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GTH1= [T

(i) G F97 a1 & |

(i) Jo7 &l @5 a% 3lad Tg-3FFT 97 8 | 9% 397 & o7
1 37 [HE9RaT 8 /

(iii) F97 &7 6 T 10 TF TG-3IT0T J97 8 | 4% ¥97 & 17T 2 37
feRa & |

(iv) 397 &7 11 & 22 T% 4] Tg-3R0T J97 & | FA% o7 & [c7¢
3 37 [HEGRT & 1

(v)  F97 G723 o TTETRT 597 & 3N 38 1070 4 37 IHE4IRT 5 /

(vi) F9T G&IT24 T 26 TF GI8-FHIT 97 & | b 97 & 17T 5 37
R & |

(vii) FTEITHATER T G967 HT FIIT B | depcicll & 39T Bl
IFHIT TETE |

General Instructions :

(i) - All questions are compulsory.

(i)
(iii)
(iv)
(V)
(Vi)
(vii)

56(B)

Questions number 1 to 5 are very short-answer questions and
carry 1 mark each.

Questions number 6 to 10 are short-answer questions and
carry 2 marks each.

Questions number 11 to 22 are also short-answer questions
and carry 3 marks each.

Question number 23 is a value based question and carry
4 marks.

Questions number 24 to 26 are long-answer questions and
carry 5 marks each.

Use Log Tables, if necessary. Use of calculators is not
allowed.
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1. 99 Si’ i ‘P’ O Sifud fopam SITar 2 at fohd Tk T 3T¢=ToTsh S9dT & 7

1
What type of semi-conductor 1s formed, when ‘S1’ 1s doped with
(.Pﬂ ?
2. ThIThILE o G Tl 3Tl b T TTRgU | 1

Write the formula of two oxo acids of phosphorous.

3. did hl Bl i A5 H,SO, o 1Y TRH i 9T Teh 10l TY hl TTaH
g feherdl 8 ST KMnO, Tae™e &1 TTeH & <dl g | 19 hi gga

hINT | 1

On heating copper turnings with conc. HySOy4, a colourless gas

with pungent smell 1s evolved which decolourizes KMnO,

solution. Identify the gas.

4. A [Co(NH;)e |3 b1 3139 CHI. M fTRaT | 1

Write the [UPAC name of complex : [Co(NH3)¢]3™

5. Tferfad w1 eReh TwTd o Ted shH H SHafedd hIfaT -
C,HsNH,, CcHs;NH,, (CoHs) » NH 1
Arrange the following in decreasing order of basic character :

C,HsNH,, Cc<HsNH,, (C,Hs), NH
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6. Teh Al BT ST I« U T ST AT @ Al bl STl & Stsiieh NaCl b
Hqw faera o a8 fagps S g | =1 2 2

A pealed egg when dipped 1n water swells up while 1n saturated
NaC/ solution 1t shrinks. Why ?

7. Torelt srtvfsram <ht ife 3T 3mfvaesdr & it e 311 feilgu | 2

Write two differences between order and molecularity of a
reaction.

8. TA=TeTRad Tufshanati o foTq Adfera Tam=i-eh Tl TeTiRaT -

(i) NaOH + Cl, >
CEERIKRY
(il) NaQH.+ C/, >
(TRE qYAT 915 2

(1) H3;PO; hl TEHTLITAA JHTsHAT TR |
(ii) AR et bl HS THI o A1 YTl T3S AT & | AT 7
Write balanced chemical equations for the following reactions :

NaOH +C/[, —> NaOH +C/, —>
() (cold & dilute) () (hot & conc.)

OR
(1) Write the disproportionation reaction ot H;PO3.

(1) Chlorine water on standing loses 1ts yellow colour. Why ?
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9. (i) JIHIH a-glcTdd GTET ohi TATRICd IS hid dTel HATTY oh TR hl
M TTRaT |

(i) oIoed o STA—3TEe b 3cq1G] b M TTRaT | 2
(1) Name the type of bonding which stabilizes a-helix structure in
proteins.

(1) Name the products of hydrolysis of Lactose.

10. HROT EIT
(i) ToreTfE C 3R IR | 9SG 781 fohaT ST Hehd & |
(i) Tr=rferfea 4 @ =  uife@ese 2 2
W, UTedld, T[h!d, haed 2

Give reasons :
(1) Vitamin C cannot be stored in our body.
(1) Which of the following 1s a polysaccharide ?

Starch, Maltose, Glucose, Fructose

11. FEATARgd 9cl ahl IRUTYT ShiTIT :

Define the following terms :
(1) Schottky detect

(1) F-centre

(111) Ferromagnetism
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12. CaCl, (|AIeR | = 111 g mol-1) =l OHET &1 Uitehe shifele f51d
500 g 9T H et o 35T fgaeh 2K %9 S <l & | I8 IHd g4 Toh
CaCl, oI T itTa & T % |

[fen & : ot & fow K, = 1.86 K kg mol-1]. 3

Calculate the amount of CaCl, (Molar mass = 111 g mol—!) which

must be added to 500 g of water to lower its freezing point by 2 K.
Assuming CaCl, 1s completely dissociated. [Given : K, for water =

1.86 K kg mol-!]

[3. Ueh YW TS o IATATHAT I 25% YT 8 | 10 e od & | SAMITsha
% t, ol Iehe shitad |

[feam 2 : log 2 =0.3010, log 3 = 0.4771, log 4 = 0.6021] 3
T

et TH <hifc ehl JATTTSHAT b o1 R &l 2.5 x 1027 12.5 x 102
Y gig Bl Sidl &, 519 d19 300 K 9 9@kt 320 K 31 J1a1 2 | Aishaur i
(EQWWW | [l : log 2 =0.3010, log 3 =0.4771, log
4 =0.6021, log 5=0.6990, R = 8.314 JK-! mol-1]

A first order reaction takes 10 minutes for 25% completion.
Calculate t;/, tor the reaction.

|Given log 2 =0.3010, log 3 =0.4771,log 4 =0.6021]
OR

The rate constant of a first order reaction increases from 2.5 x 102 to

12.5 x 102 when temperature changes from 300 K to 320 K.

Calculate the energy of activation (E,). [Given : log 2 = 0.3010,
log3=0.4771, log4=0.6021, log 5=0.6990, R =8.314 JK-! mol'}

56(B) 6

E=
&collegedunlaz
India’s largest Student Review Platform

T—



14. T=fciRad 9 gefed g TaTiaa -
(i) A TR
(i1) SATST TTEAT TSR
(iii) AUICIRGeh! (ShHCITHT ) Tate 3
Indicate the principle behind the following :
(1) Zone Refining
(1) Vapour phase refining
(111) Chromatography

15. f=fafea & foe sror s -
(1) BISSISH THISS hi ITUT YT o ATITT TR hIhl I=T & |
(i) TorEme +5 TRHTHIT ST (UeTaei=e ] U Yeel 3[R o |
(iii) 95 TERIh 37T Teh el Mol ShH & | 3

Account for the following :

(1) Thermal stability of water 1s much higher than that of
hydrogen-sulphide.

(1) Bismath 1s strong oxidizing agent in pentavalent state.

(111) Conc. Sulphuric acid 1s strong dehydrating agent.

16. (a) &b [NiCly]2— o ToTq GhIul 1 JohR R Trelehd FdER eTRIT |
(b) I9ET HerH! (IWeil TeT7T=g) <hT Teh IETETT CIIT | 2 +1

(a) For the complex [NiCl4]2_, write the hybridization type and
magnetic behaviour of complex.

(b) Give an example of ambidentate ligand.
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17. W_Eﬁ?”%ﬁa :

(i) TS FARES i THIEH i 39MRATd T HifsIH =Ferss (Nal) &
1Y IR foram ST @ 2

(i) 35 3 <l UM T Feliid=siia hl HITsIH 91d = A1 3T
AT AT 8 ?

(iii) TS FAES I KNO, o H1Y UG TohT SITAT & 7
379 3T o THYH H THH-eh THIHT TARIT | 3

What happens when :

(1) Ethyl chloride 1s treated with sodium 1odide (Nal) 1n the
presence of acetone ?

(1) Chlorobenzene 1s treated with sodium metal 1n the presence of
dry ether ?

(iii) Methyl chloride is treated with KNO, ?

Write chemical equations in support of your answers.

18. f=rferiRaa srfufsknati 1@ A 8 D <hi 989 shifvu 3

C4HsO - 2r1H] H,0/Zn

H TEH,S0, O

IR T

. 2CH;CHO

Identity A to D 1n the following reactions :

CsHgO
A B 2[H] >B CONnecC. H2804 C 03 D Hzo/ZIl> 2CH3CHO

Reduction Heat
56(B) 8
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19. SHRUT EIWT
(i) CH;COOH & 3mem C/ — CH, — COOH 3iferes 3mefiar 2 |
(i) S=IfcSEse Teeid HaH 8l el & |
(iii) STRTEIHA JNERT W HIEMA FThR] 6 GAFRRUT b 70 FifgTH
STSECHISS T IUANT {ehIT SITAT E | 3

G1ve reasons :

(1) C/—-CH, - COOH i1s more acidic than CH,COOH.

(1) Benzaldehyde does not undergo Aldol condensation.

(111) Sodium bisulphite 1s used to separate carbonyl compounds

from non=carbonyl compounds.

20. Teh TUH[CH FMeh (A) NH; o 1Y IYATHA hieh TH i T I (B)
SHTAT 8 ST Bro, 31 KOH o 91 T8 &hid W AMfTeh (C) SHIaT 8 fSreeht
HEA CcH/N B | A, B 3R C hl §=HN Qi | 3
An aromatic compound (A) on treatment with NH; followed by
heating forms compound (B) which on heating with Br, and KOH

forms a compound (C) having molecular formula CciH~N. Give

structures of A, B and C.
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21. (i) TR SgcTsh YT o Tehelhl hl UgA hITaIT :

CN

\
CH, ~CH=CH-CH, ~CH, -CH|,

(ii) TerEl SgeTeh & SU[AT o S IUFRAA el o YR W dehelrze Tohd

B HGI B ?
(iii) ThE TR oh SEeTehlehUl H HTHTIAAT shacl his YLHTIAT STAT
qgcAh ST 8 7 3

(1) Identity the monomers 1n the following polymeric structure :

CN

\
[-CH, -CH=CH-CH, -CH, —~CH|-_

(11) On the basis of forces between their molecules 1 a polymer to
which class does Bakelite belong ?

(111) Which type of polymerization generally gives a polymer
containing only carbon atom ?

22. ARG ol TICHTIV ShiTTT :
(i) Tid3TrT
(i) e
(iii) T=ITaeh 3
Detfine the following :
(1) Antacids
(11) Antiseptics
(111) Tranquilizers
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23. TH 3R WM 37A=3 UT 8§ | Tk T, Biehl @d GHI TH bl Tl T T3 AR
39! T d&- T | T, TH bl 3704 O o TRT 3T e 8T WM W
fheehll T &1 | T&d o1 S8 % TRIT 3R YH: GHI Blohl Wed ol |

(i) EHH R T ST g (FE Q) TIg R ?
(ii) he BT TAM W ST Thaehll TIITE 18 Tl Tord hl SgT 91 &eh TIT 7

(iii) e ST I Tod S8+ hl JATEATH KC/ 1 3191 FeCl; bl o1 I
S

(iv) U<IYes’ U¢ 9 379 991 9981d & 7 4

Ram and Shyam are good friends. One day, while playing hockey,
Ram got hurt and started bleeding. Shyam took Ram to his house
and applied some alum on the cut. The bleeding stopped and both
started playing hockey once again.

(1) What are the values (any two) associated with Shyam’s
decision ?

(1) Why did the bleeding stop when some alum was applied on
the cut ?

(111) Why-1s . FeCl5 preferred over KC/ 1n case of a cut leading to
bleeding ?

(1v) What do you understand by the term ‘Peptization’ ?

24. 0.025 mol L-! HYATEH 3701 shl ATetehar 1.152 x 103 S cm! & |
THhH! T TTeAhdl 3T TSI JTAT UTehieTd ShIfaiU |

[feT 2 : A%+ =349.6 S cm? mol-1, X° yeoo-= 54.6 S cm? mol1]
>

CPE
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(a) ShRUT GINT :
(1) 995 4 ST 9Tl ST@TSIl ahl A1 U 37ehal THIREY @S (i )
1y fgu STd 2 |
(ii) T I HeA H IHMWTRAT o SH NH; Hebetd! 8 93 I8 T4
HERHERICIN
(b) 0.1 mol L-! NaC/ foeraa Y =meiesar 1.06 x 102 S cm! 2 |
TGeh! HIR TTetehdT 371 TS JIET Iitehferd shifvg | 2,3

[feam & : 2°n,+=50.1 S cm2 mol-!, 2° = 76.5 S cm2 mol-!]

The conductivity of 0.025 mol L-! methanoic acid is 1.152 x 10 S

cm~l. Calculate 1ts molar conductivity, degree of dissociation.

[Given : X ;+=349.6 S cm? mol-!, A7 . ,o-= 34.6 S cm? mol ! |

OR
(a) Give reasons :

(1) /Bloctks-of magnesium are often strapped to the steel hubs

of ocean going ships.

(1) In a dry cell, NH, liberated by the reaction does not build

up a gas pressure.

(b) The conductivity of 0.1 mol L-! solution of NaCl is

1.06 x 102 S cm!. Calculate its molar conductivity and

degree of dissociation.

[Given Ay, +=50.1 S cm? mol-1, X’ = 76.5 S cm? mol!]
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25. (a) HshHUI dwdl shl UM Tt 3= 41 gidt 2 7 3d ufi ° forg o <hi
HUH T FHaH 7 7
(b) IS 3TehaH ol TRYTIV shitaT 3T 38 g IUMY foTRay |

(c) ThHUT d<d 3R sHeh Alfieh ISEhT IO G & | RO
&I | 2,2.1

AT

(a) Teh & TT 1 ik (A) &R < T GTeAd Bkt Teh YT ATk (B)
ST & S 37reflehd fohT ST W1 A1t Afies (C) 2a1 8 | NH4Cl
Ty (C) ffsran ek It Aifies (D) <1 & S T fohT 9 W
(A) ITHHE ST SAT R | (A) & (D) deh 1 T8 <hIfST |

(b) Mn3* ¥ srafitra sergil 1 wen frfan | 4,1

(a) Why do the transition elements have higher enthalpies of
atomization 7 In 3d series which element has the lowest
enthalpy of atomization ?

(b) Deftine lanthanoid contraction. Write 1ts two consequences.

(c) Transition eclements and theirr compounds show catalytic
properties. Give reason.

OR

(a) A green coloured compound (A) on fusion with alkal1 gave a
yellow compound (B) which on acidification gives orange
compound (C). (C) on reaction with NH4C/ gives orange

compound (D) which when heated gives back (A). Identity
(A) to (D).

(b) Write the number of unpaired electrons in Mn>",

56(B) 13 [P.T.O.
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26. (a) MY FHTARIT U] hd G~ HLd & 7
(1) FUH-1-3ATA F TUA-2-3ATeA
(i) HHTA H AT oTeh 3T
(b) T=icTRad ANk Frell o &= foaug A & o0 TR e
o -
(1) Umed-2-37TeA 3R Ued-3-37Ted
(i) HHIA 3R TS oA

CH,

|
(c) CH,= C —-CH,OH %1 3. dl.udl s fafge | 2,21

AYET
(a) TAISA oh IHSIcA[oh{0T bl ThATE ToTRaY |
(b) I EINT :

(i) T hl T HHIA § C—O ATEY I8 SIS BT & |

(ii) HTSaAgTaHI hi 3TU&T HiHIe HAfIh AT aara | 3, 2

(a) How do you convert the following ?
(1) Propan-1-ol to Propan-2-ol

(1) Phenol to Salicylic acid

56(B) 14
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(b) Give chemical tests to distinguish between the following pairs
of compounds :

(1) Pentan-2-ol and Pentan-3-ol

(11) Phenol and Cyclohexanol

CH

\
(c) Write [IUPAC name of CH, = C —CHZOH

3

OR
(a) Write mechanism for the dehydration of ethanol.
(b) Give reasons :
(1) C—O bond 1s much shorter in phenol than i ethanol.

(11) Phenol 1s more acidic than cyclohexanol.

56(B) 15
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